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|ist- docode. RS codes up to tee Jomson bound, p= 1-VR.
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- oleg(f) < 3

. pld(')‘yt‘ bor at last ¢ o/ﬂtu(( 5

What ts can we ﬁa]\d/o,? We'll sea. leder!

@) Finadly, UDAN'S MG,
In this contet, Berlekemp-Welch is:

V\Mtﬂt’)(&CHté should Hhis mean?

¥
PS5, T ¢ (fow-oecte)plgrmil R ot Q)= ¥

RW’(:‘NDNQ 2. Hdur Q(X\\() ‘(‘o Q\'r\c[ Ful'dnamiaﬁs F(’O St (Q(X,‘P(X))EO
MeP
Rebum ol suda Q's.

We can do  SteP4 &5 long as we have move. vangbles (coefs of @) Hran anshunts.
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This élﬁodﬂnm bas(calhé works, and is culled  SUDAN'S AUGOR THM.
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ANALYSIS
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This prves e gououom% ‘hoorew :

Tum If t> m\ thon we cun sdvimlfsk-cﬁzcodi/\ck problewm
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THM. ool >0, RS codes of ke Roave (VR 5 4R )
List-decodable | and e Guruswomi - Sudan algotnn
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T m_orﬂ O\C {ha S\'\arLa:
WE CANV EFFICIENTYY LsT-DECobE RS COnES up o Hia "JoHNsoN Bound

NOTE.
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have opﬁmigd o hack out of & ond W con e macle to0 un in tie O(n lua(vn).
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